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AX, 1000H
MOV ES, AX
MOV BX, 5100H

—a MOV AX, 6543H
MOV DX, 7200H
MOV CX, 8008H
MOV DI, 0CDEFH
MOV SI,0ABCDH
MOV SP, 4100H
MOV BP, 9FC4H

—

PUSH DI
-—3»PUSH SI

g;%‘SH SP)
. P DI
PUSH CX

MOV BP, SP
MOV DX, [BP+3]
POP SI —— —
POP CX

.-

_ PUSH BX

PUSH ~WERBPIR200h
q—

POP AX
POP BP
POP BIX

4
L

Question #2 {2 S P‘nﬁrts) &agmt we construct an assembly program that consists of three

assembly ﬂryzﬂans to perfnnn a_certain job. The corresponding logical address is
amciatﬁdm;hmhm shown below:

% 0018: 0020  Assembly Instruction 1 L\\oot P
D018: 0023 |  Assembly Instruction 2 |
0018: 0025  Assembly Instruction 3; three bytes long
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Notes: 1. Consider an 80286 processor that has #mtaddmbus %

2. Figure 1 and Appendix 1 are very beneficial.
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iptor tables whm all of the menlmncd values are in hex.

Clyfy the following instructions according to their addressing
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Question #4 (7 Points): State whether each of following instructions 1S valid or not. If it is

invalid, what is the major cause?

Instruction Valid/invalid Cause (if invalid)
MOV [DI+4], 0FFFFH
MOV DX, CL
- MOV LIST, [BX]
e,
-‘ MOV DX, [CX *
/ 1 | \/cA & c& .
PUSH CH , l — |
\nudlid €D S oYy
POP CS . - > 7 AN
\ e \ A e |les (o e eafinekion
MOV CH.ARRAY[BP—I-_pHD_{LTA-] _ i: s %L{ % '/r.

Question #5 (4 Points): The following table shows:the logical memory addresses along with
their contents (in hex). You need to consider this table for answering the questions below.

Memory Address Memory Contents

DO00:0000 0B

DO0O:0001 06

DOOO:0002 * 22
D000;0003 53
D000:0004 06
D000:0005, 00
D000:0006 FF

L. D000:6007 CF
D000:0008 EB

A DOO0:0009 1B
a DOD0:000A 08
1 DP000:000B 00
DO00:000C BC
DO0O:000D DA

| ‘ » DO0D:000E 2
w DﬂﬂﬂlﬂﬂﬂF C6




Answer 'JDQ-LU:’
(B) (2 Points). will be the contents of DX and BX after exemmng the following code?
MOV DL, [0008h] | OL=E5

MOV  DH, [000Ch]

f2L
MOV  BX, [0006H] Ok =

u{/ Answer . ®i %g“ 2

(C) (1 Point). What will be the cuments of AX after executing thc following code?

MOV SL[0004h] S ue0° o Geog
MOV  BX, [000Ah] e i O A 5
MOV  AX, [BX+SI]| e *fﬁg/
Answer \ /ﬁ, . = C Qf '2_ i’l/\
\ ~ =7—‘H_ =

Question #6 (4 Points): Study the following assembly program. named “Mid”, carefully
given that the starting offset address of the data segment (DS) is 0100H.

Model small
.data

g DATAJ DW 0002H




F.'l

DS = 1000H and the starting offset address H"_ 3 'ﬁr : '.'

DATA

oo ¥ X DWW __22F2h
um;.-LL Y\ Y DW  414Ah

UooUUHZ DW 2EEFH T}\
~ Uoo 6wK DW 0DECH \7 /

Question #7 (2.5 Points): The following Vi n th

-

after | |lowin
(A) (1 Point). What will be the content of DI reg;ﬂer execuung the fo g

instruction? .

Answér—
A @1 ;

(B) (1.5 Point). What are the affected parts in the following instruction along with their
contents?

EUN
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o e ecfl e Rovks Eiﬁ Ceoplt Peggest®’ (£5) -? (lesgistenr (ST

X Question #8 (3 Points): Given the fﬂllﬂwg machine instructions. You are required to find
their equivalent assembly msu'uctmns yén working witl-16-bit instruction format
o A

Machme mﬁueﬂnn

Equivalent assembly instruction
T 98D04. yS :




	vlcsnap-2014-04-11-15h34m41s152
	vlcsnap-2014-04-11-15h34m59s47
	vlcsnap-2014-04-11-15h35m34s164
	vlcsnap-2014-04-11-15h35m46s23
	vlcsnap-2014-04-11-15h36m20s119
	Blank Page

